

Curriculum as an International Text: Evaluation of Global Education from Junior High School Students' Knowledge and Attitude in Taiwan

Su-ching Lin

Associate Professor, Graduate Institute of Education National Changhua University of Education, Taiwan 1, Jin De Road, Paisha Village, Changhua 500, Taiwan E-mail: sclin@cc.ncue.edu.tw

Hsin-Yi Kung

Assistant Professor, Graduate Institute of Education National Changhua University of Education 1, Jin De Road, Paisha Village, Changhua 500, Taiwan E-mail: hykung@cc.ncue.edu.tw

Abstract

This study is interested in understanding curriculum as an international text and evaluating the connections between junior high school students' global knowledge and attitudes and the required national curriculum in Taiwan. The study also examines whether the global knowledge and attitudes vary by demographic variables. By using the Global Knowledge Scale and Global Attitudes Scale, data were collected from 1,017 students in central Taiwan and analyzed by descriptive statistics, chi-square and one-way MANOVA. The results of this study revealed that, first, the global knowledge of the junior high school students was insufficient, but their global attitudes were positive. Second, there was no gender difference in global knowledge but there was a difference in global attitudes. Third, ninth graders held significantly the highest knowledge and attitudes than eighth graders and seventh graders. Fourth, there was a socioeconomic status difference in global knowledge and attitudes. Finally, students with overseas travel experience have better global knowledge and attitudes. This study suggests that practitioners and researchers need to find practical ways to improve global education including curriculum design and implementation, teacher preparation, school environment, and students' assessment.

Keywords: Global education, Global knowledge, Global attitudes, Junior high school students

1. Introduction

The 21st Century is the age of globalization which is an ongoing process of intensifying economic, social, and cultural exchanges across the planet. Globalization is about the increasing integration and coordination of markets, production, as well as of consumption and exchanges of cultures that make the old bound-nation-state increasing untenable. These global economic forces are stimulating the migration of people in unprecedented numbers from and to every corner of the earth. They are challenging schools everywhere and in multiple ways. New global realities increasingly define the contexts in which youth are growing up, living, learning, loving, and working. Indeed, globalization in its various manifestations—economic, demographic, socio-cultural—is a quotidian part of the experience of youth today. North and South, East and West, youth are creating and exchanging ideas with people in faraway places; they are wearing similar clothing, sharing tastes in music, following the achievements of today's global sports heroes and gravitating toward the same websites. This is the first generation in human history in which the fortunes of youth growing up far apart will be demonstrably linked by ever more powerful global socioeconomic and demographic realities

(Suárez-Orozco and Sattin 2007).

How is this relevant to education? According to Kirkwood (2001), students today face a new world order and their daily contacts include individuals from diverse ethnic, gender, linguistic, racial, and socioeconomic backgrounds. Moreover, students experience some of history's most serious health problems, inequities among less-developed and more-developed nations, environmental deterioration, overpopulation transnational migrations, ethnic nationalism, and the decline of the nation-state. Wilson (1993) suggests that schools adopt a global or international perspective in their curricula and that the school mission statement should include the goal that students gain a global perspective as an integral part of their education for citizenship in the 21st Century. Type (1999) argues that changes in educational program, state guidelines, and textbooks should place more emphasis on world cultures, world history, and geography. It has been a little more than 20 years since the term global education was coined. The goals we associate with global education are an important part of the curricula of many other nations for a variety of reasons. Whatever the reasons, global education is becoming a worldwide movement (Tye and Kniep,1991).

Globalization has greatly influenced education, economy and politics. Like other countries of the world, Taiwan is zealously working to improve national competitiveness. Taiwan's educational system now needs to take a step towards upgrading the quality of its education. In keeping with the 21st Century and the global trends, the government engages in educational reform in order to foster national competitiveness and the overall quality of citizens' lives. The Ministry of Education (hereafter referred to as the MOE), therefore, initiated curricular and instructional reforms in elementary and junior high school education. The current *Curriculum Frameworks for Elementary Schools and Junior High Schools* were revised and promulgated in 1993 and 1994 respectively. The current *Curriculum Frameworks* have been gradually and properly implemented. In the 2002 academic year, all of junior high schools started to implement Grade 1-9 Curriculum. According to the Grade 1-9 Curriculum one goal is to further cultural learning and international understanding which involves appreciating and respecting different groups and cultures, understanding the history and culture of one's own country as well as others', recognizing the trend of the globalization in which countries all over the world are integrated into a global village, and developing a global perspective with mutual interdependence, trust and cooperation. In order to achieve this goal, competence indicators are developed and set in seven learning areas at various learning stages. These competence indicators are related to global education.

Elementary and secondary school levels are critical stages for students to develop the concepts and skills of global issues and culture understanding (Angell and Avery, 1992). In this study, we are interested in evaluating the connections between junior high school students' global knowledge and attitude and national curriculum, Grade 1-9 Curriculum in Taiwan. Moreover, global knowledge and attitude vary by students' gender, grade, family social-economic status, and overseas travel experience. By shedding light on the complex ways in which students learn global knowledge and develop global attitude during adolescence, this paper provides information critical to global education. These findings should stimulate reflection on the curriculum of global education, not only in Taiwan but in any society where global education aims at contemporary relevance through its impact on young people.

2. Global Education

What is the global education? There are many definitions of global education. Hanvey (1982) explores education for a global perspective which includes dimensions of perspective consciousness, state of the planet awareness, cross-cultural awareness, knowledge of global dynamics, and awareness of human choices. Global education will enhance the individual's ability to understand his or her condition in the community and the world and will improve the ability to make effective judgments. It includes the study of nations, cultures, and civilizations, including our own pluralistic society and the societies of other peoples, with a focus on understanding how these are all interconnected and how they change, and on the perspective of world issues, problems and prospects, and an awareness of the relationships between an individual's enlightened self-interest and the concerns of people elsewhere in the world. Kniep (1989) has argued that the structure of global education should include four components that are derived from present and historical realities: a) the study of human and universal values, such as human rights, value, dignity, and worth of all human beings; b) the study of global systems, such as economic, political, ecological, and technological systems; c) the study of global issues and problems, such as peace and security issues, developmental issues, environmental issues, and human rights issues; d) the study of global history, such as connections and exchanges among civilizations.

Following Hanvey and Kniep, others have developed the concept of global education. Anderson (1991) defines global education as involving learning about those problems and issues which cut across national boundaries and about the interconnectedness of systems—cultural, ecological, economic, political, and technological. Tye and Tye (1992) point out that global education also involves learning to understand and appreciate our neighbors with different cultural backgrounds than ours, to see the world through the eyes and minds of others; and to realize that all peoples of the world need and want much the same things. Diaz, et al. (1999) define global education as having three kinds of outcomes: cognitive, affective, and participatory. The cognitive dimension is the knowledge which the individual possesses of other cultures and how the world systems operate, the affective is the extent to which the individual

empathizes with the values of other cultures, and the participatory is the willingness to take a stand on issues. Therefore, in order to promote students' cognitive, affective, and participatory outcomes, curricula for the society must include multicultural and international content (Clarke, 2004).

According to Pike and Selby (1999) and Hicks (2003), there are four dimensions of global education. First, the issue dimension embraces five major problem areas (corresponding solutions to them): inequality/equality; injustice/justice; conflict/peace; environmental damage/care; alienation/participation. Second, the spatial dimension emphasizes exploration of the local-global connections that exist in relation to these issues, including the nature of both interdependency and dependency. Third, the temporal dimension emphasizes exploration of the interconnections that exist between past, present, and future in relation to such issues and, in particular, scenarios of preferred futures. Fourth, the process dimension emphasizes a participatory and experiential pedagogy which explores differing value perspectives and leads to politically aware local-global citizenship. Recently, Mansilla and Gardner (2007) recommended the investigation of a conceptual map highlighting four core problem areas that embody globalization's central tensions and dilemmas: economic integration, environmental stewardship, cultural encounters, and governance and citizenship.

Early research on children's cross-cultural knowledge and attitude is often traced to discover how children view their own political and cultural identities at different ages and stages of development, such as in Piaget and Wei (1951). In contrast, many studies administrated in different countries focuses on examining youths' knowledge, attitude, interest, or perception (Asia Society, 2001;Giffin et al., 2002;Osunde, 1996; Pike et al., 1979;RoperASW for National Geographic Education Foundation, 2000;Yu, 2002, Zhao et al., 2006; Zhao et al., 2005). These studies reveal similar findings: that is, that students' global knowledge and attitude are not sufficient. Moreover, there are some studies that have investigated the sources influencing students' global knowledge (Lambert and Klineberg, 1967;Petri, 1988; Davies et al., 2005). Furthermore, several studies (Blankenship, 1990; Roberts, 1994, Giffin et al., 2002) are interested in examining whether the global knowledge varies according to students' gender, grade, and race.

In Taiwan, there are not many studies on global education at the secondary school level, such as examining global education teaching at senior high school level conducted by (Liu, 2008; Wang, 2003). Another research style is document analysis of global knowledge in elementary and secondary school textbooks (Wang, 2003; Wang, 2007; Yang, 2003; Zhang, 2007). Among these studies which were conducted in Taiwan, only one of them (Jian, 1991) probed junior high students' global knowledge and attitude before new curriculum, Grade 1-9 Curricular implementation in Taiwan. In order to respond to the age of globalization, Grade 1-9 Curriculum offers competence indicators as learning objectives related to global education for students' to achieve in each learning areas. However, will the achievement of competence indicators promote better global awareness in junior high school students than the old curriculum system which did not respond to globalization? Nowadays, do Taiwan junior high school students have more knowledge and a more positive attitude toward global education than before?

This study classified global knowledge into four categories by referring and integrating the theoretical frameworks suggested in previous work (Clarke, 2004; Hanvey, 1982; Hicks, 2003; Kniep, 1989; Merryfield, 2002; Pike and Selby, 1999; Tye and Tye, 1992), including a) global correlation systems, b) global issues, c) cross-culture understanding, d) global history and geography. The following are descriptions of each element of global knowledge, also including global attitude:

- a. Global correlation systems: the interdependency and correlation among politics, economy, ecosystem, environmental pollution, social change, sciences, technology, and universal system.
- b. Global issues: international and controversial issues, such as technology, population, ethnicity, energy resources, food, ecological environment, health and hygiene, and globalism.
- c. Cross-culture understanding: understandings and appreciation of different cultural backgrounds, viewpoints, religions, history, and geography.
- d. Global history and geography: refer to the evolution of human being's values, the historical development of a global system, and the background and reasons causing global problems nowadays.
- e. Global attitude: including tolerance and appreciation, life and human rights, global dependence, communication and cooperation, war and peace, global responsibility, global thinking and local action.

3. Method

3.1 Research questions

The purposes of this study were to investigate global knowledge and attitude for junior high school students in Taiwan. In particular we intended to explore the following questions:

a. How is junior high school students' overall global knowledge and global attitude?

- b. Is there a difference among four dimensions of global knowledge as reported by students?
- c. Do global knowledge and attitude vary by students' gender, grade, family socioeconomic status, and overseas travel experience?

A questionnaire containing 60 items was developed by the authors to investigate the knowledge regarding students' global correlation systems, global issues, cross-culture understandings, and global history and geography, and 45 items were developed to examine students' global attitude to tolerance and appreciation, life and human rights, global dependence, communication and cooperation, war and peace, global responsibility, global thinking and local action. During the initial development stage of the questionnaire, teacher educators in social studies, secondary school teachers, and junior high school students were invited by the authors to review the questionnaire content to ensure the validity of global education categorizations.

3.2 Samples

The total subjects in the study were 1,017 junior high school students from central Taiwan. There were 485 males and 532 females from eleven junior high schools. The social-economic status of subjects was as follows: 142 high socioeconomic status students (14% of samples), 217 middle socioeconomic status students (21% of samples), and 658 low socioeconomic status students (65%). The grade composition of subjects was as follows: 346 students (34% of samples) were seventh grade; 336 students (33% of samples) were eighth grade; 335 students (33% of samples) were ninth grade. Prior to completing the anonymous questionnaire, students were provided with a brief explanation of appropriate response procedures.

3.3 Research Instruments

The study utilized questionnaires to assess junior high school students' global knowledge and global attitude. Students completed a background information form and a 'Global Knowledge Scale (GKS)' and 'Global Attitude Scale (GAS).'

Global Knowledge Scale. Based upon the work of Pike and Barrows (1979) and Petrie (1988), and by consulting with teacher educators in the social studies, 60 multiple-choice items were chosen for the scale. These multiple-choice items could be divided into four major dimensions. The first part, consisting of 12 items, assessed students' knowledge of global systems including the interdependence and correlations among politics, economy, ecosystem, environmental pollution, social change, sciences, technology, and universal system. The second part, consisting of 32 items, explored their realization of global issues, including international and controversial issues, such as technology, population, ethnicity, energy resources, food, ecological environment, health and hygiene, and globalism. The third part, consisting of 8 items, investigated their knowledge of cross-cultural understanding and appreciation of different cultural backgrounds, viewpoints, religions, history, and geography. The fourth part, consisting of 8 items, tested their understanding of global history and global geography. Each item rated on bipolar yes-no statements, and students were scored to get one point for every correctly answered item. Estimate of test-retest reliability coefficient for the first and second surveys is 0.90. The estimate of reliability coefficient, utilizing Cronbach's alpha, are 0.88 and 0.92 for 1st and 2nd surveys, respectively.

Global Attitude Scale. Based upon the work of Sampson and Smith (1957) and Petrie (1988), and by consulting with teacher educators in social studies, 45 items were chosen for the questionnaire initially. Each item rated on bipolar agree-disagree statements on a 4-point Likert scale (1=strongly disagree, 4=strongly agree), and students were asked to select the one that most accurately describes their global attitude. With additional review of global education, through factor analysis, students' global attitude was categorized into seven main categories with 37 items in total, including tolerance and appreciation (6 items), life and human right (5 items), global dependence (5 items), communication and cooperation (5 items), war and peace (4 items), global responsibility (6 items) and global thinking and local action (6 items). Estimates of reliability coefficient for seven subscales, utilizing Cronbach's alpha, ranges from 0.60 to 0.76. The results are summarized in table 1.

Insert Table 1 about here

3.4 Data processing and analysis

Data analyses were performed using SPSS for Windows 14.0. Descriptive statistics, including mean and standard deviation were conducted for each component of global knowledge as well as for the seven aspects of global attitude. Scale scores were generated using the mean value of the items within each scale. Statistical tests included χ^2 test, MANOVA analysis, Post hoc comparisons.

4. Results

4.1 The junior high school students' overall global knowledge and global attitude

Students' overall correct ratio on the scales of the GKS was 60.1% and the mean for global attitude was 3.45. The results indicated that the global knowledge of the junior high school students was not enough, but their global attitude

was positive.

4.2 The differences among four dimensions of junior high school students' global knowledge

Table 2 shows the item numbers and subjects' correct ratio on the scales of the GKS. In general, the four dimensions of correct ratio on global knowledge of junior high school students ranged from 57.6% to 65.9%. In order to further investigate the differences in item responses among four dimensions and within each dimension, χ^2 tests were administered on GKS; the results are presented in table 2. The non-significant result indicated that there were no differences among four dimensions (i.e., global correlation systems, global issues, cross-culture understanding, and global history and geography) of high school students' global knowledge. Within dimensions, there were significant differences in the global correlation systems of junior high school students' global knowledge.

Insert Table 2 about here

4.3 Global knowledge and attitude in different backgrounds of students

Comparisons on the GKS and GAS scores of gender, grade, family socioeconomic status, and overseas travel experience were conducted by MANOVA analysis and post hoc comparisons.

4.3.1 Global knowledge and attitude in gender difference

The results showed that, first, there was no gender difference in global knowledge (F=1.96, p>0.05). Second, there was a gender difference in global attitude (F=6.698, p<0.001). In order to further investigate the differences in dimension responses between male and female participants, post hoc comparisons were administered on a dimension-by-dimension basis; the results are presented in table 3. The significant results indicated that female students had higher global attitude toward tolerance and appreciation, communication and cooperation, war and peace, and global responsibility.

Insert Table 3 about here

4.3.2 Global knowledge and attitude in grade difference

The results showed that, first, there was a grade difference in global knowledge (F=20.44, p<0.001). In order to further investigate the differences in dimension responses among grades, post hoc comparisons were administered on an dimension-by-dimension basis; the results are presented in table 4. The results showed that 9^{th} graders held significantly higher knowledge about global correlation systems, global issues, cross-cultural understanding, and global history and geography than the 8^{th} graders, and that the 8^{th} graders held significantly higher global knowledge in four dimensions than the 7^{th} graders as well. Second, there was grade difference in global attitude (F=3.79, p<0.001). According to a dimension-by-dimension basis, post hoc comparisons were performed and the results are presented in table 5. The significant results indicated that 9^{th} graders had higher global attitude toward tolerance and appreciation than did 8^{th} and 7^{th} graders.

Insert Table 4 about here

Insert Table 5 about here

4.3.3 Global knowledge and attitude in family socioeconomic status difference

The results showed that, first, there was a SES difference in global knowledge (F=7.72, p< 0.001). Post hoc comparisons were administered on a dimension-by-dimension basis; the results are presented in table 6. The results showed that high and middle SES students held significantly higher knowledge towards global correlation systems, global issues, cross-cultural understanding, and global history and geography than the low SES students. Second, there was a SES difference in global attitude (F=1.82, p<0.05). Post hoc comparisons were administered and the results are presented in table 7. The significant results indicated that, first, middle SES students had higher global attitude toward tolerance and appreciation, communication and cooperation, war and peace, global responsibility, and global thinking and local action than the low SES students. Second, high and middle SES students had higher global attitude toward global dependence than the low SES students.

Insert Table 6 about here

Insert Table 7 about here

4.3.4 Global knowledge and attitude in overseas travel experience difference

The results showed that, first, there was a difference in global knowledge between students with and without overseas travel experience (F=2.93, p<0.05). Post hoc comparisons were administered on a dimension-by-dimension basis; the results are presented in table 8 and showed that students with overseas travel experience held significantly higher knowledge towards global issues, cross-cultural understanding, and global history and geography than did students without overseas travel experience. Second, there was a difference in global attitude between students with and without overseas travel experience (F=2.05, p<0.05). The results of post hoc comparisons are presented in table 9. The

significant results indicated that students with overseas travel experience had higher global attitude toward war and peace than did students without overseas travel experience.

Insert Table 8 about here

Insert Table 9 about here

5. Discussions

5.1 Global knowledge and attitude

The purpose of this study was to evaluate the connection between junior high school students' global knowledge and attitude and the required national curriculum, Grade 1-9 Curriculum in Taiwan. In addition, this investigation also sought to ascertain the influence of gender, grade, family socioeconomic status, and overseas travel experience on students' global knowledge and attitude. This investigation used a 'Global Knowledge Scale' and a 'Global Attitude Scale' as instruments grounded in literature review as the guiding framework to discern the global knowledge and attitude of junior high school students.

Overall, descriptive statistics suggest that students' global knowledge in Taiwan is insufficient, but their global attitude is positive. The results are similar to the outcome of the studies arranged in different countries (Asia Society, 2001; Giffin et al., 2002; Osunde, 1996; Pike et al., 1979, RoperASW for National Geographic Education Foundation, 2000; Zhao et al., 2006, Zhao et al., 2005). Similarly to Jian's findings (1991), which indicating that students' global knowledge in the 90's in Taiwan was insufficient, the present study also found that students' global knowledge is not sufficient after implementing the Grade 1-9 Curriculum. As mentioned above, although there are many competence indicators of global education in the Grade 1-9 Curriculum, which is the direction to design curriculum, including leaning objectives, selecting teaching materials, learning activities, and learning assessment, Chin (2008) argues that most of the competence indicators cannot properly connect to learning objectives, Additionally, Liu (2008) indicates more than 80% of teachers in Taiwan do not recognize competence indicators very highly as the ideal learning goals due to their vague. Petri's (1988) study indicates that the teacher is the main factor influencing students' knowledge. Asia Society's study (2001) also reveals that most students identified their teachers and schools as not being prepared to help them to learn international knowledge. While teachers recognize competence indicators as vague, it might be difficult for them to transform them into learning objectives and to ask students to achieve. The above findings (Chin, 2008; Liu, 2008) might address why students' global knowledge is still not sufficient after implementing the Grade 1-9 Curriculum in Taiwan. However, this study only involved one measure of students' global knowledge and attitudes, other measures (e.g, classroom observation of curriculum implementation) may have been more information regarding global education.

In light of four major dimensions, the items in the dimensions of global history and geography get the highest correct ratio. According to Zhang (2007) and Wang (2003), global history and geography in the social studies textbooks were presented more than any other subject in the sub-category. Additionally, this might be because of the examination system. Although there are many competence indicators of global education in the Grade 1-9 Curriculum, the contents of curricular and instruction have been dominated by the entrance exam, especially at secondary school level. In Taiwan, the entrance exam consists of five domains: Chinese, English, Mathematics, Social Studies, and Science. The knowledge of global history and geography are included in the Social Studies and junior high school teachers emphasized them. This might address why the sub-category of global history and geography have the highest correct ratio.

We discovered that students' global knowledge was insufficient. Although there are many competence indicators of global education are set in Grade 1-9 curriculum, most grade 1-9 school teachers ignore competence indicators and merely rely on textbooks (Chin, 2008). Textbooks can be used as a curriculum implementation tool that influenced students' global knowledge and attitudes (Zhang, 2007; Chi, 2008; Petri, 1988). Textbooks are major source for students acquiring global knowledge. This study suggests that the systems of textbooks verification should be rigid and examine if the competence indicators transform into learning objectives precisely. From previous study (Holden and Hicks, 2007), traditionally, teacher preparation programs have not focused on preparing teachers to teach their students about the world. We suggest that schools of education are beginning to recognize the need to internationalize their programs and we should offer in-service teachers a professional development initiative to help them integrate international content in all major subject areas. In addition, government should provide technology service to encourage the use of information sources from around the world and help teachers engage in international classroom-to-classroom collaborations. Furthermore, nationwide assessments should be reviewed to include global content, and the analytical and higher order thinking skills that students will need to face the challenges of a changing world.

5.2 Demographics

Demographic variables such as gender, grade, family socioeconomic status and overseas travel experience were mostly found to be systematically related to the students' global knowledge and attitude. When examining the gender

difference in global knowledge and attitude, there was no difference in global knowledge. This finding is not consistent with the findings of Jian (1991) and Roberts (1994). These two studies report the similar results that males performed significantly better than females on the global knowledge test. This difference might be due to sample selection, instruments, and locations. However, significant differences were found in that female students held significantly higher attitude towards tolerance and appreciation, communication and cooperation, war and peace, and global responsibility than did male students. This finding is consistent with Jian (1991) and Giffin et al. (2002).

When the impact of participants' grade was considered for global knowledge and attitude, 9th graders held significantly the highest knowledge towards global correlation systems; global issues, cross-cultural understanding, and global history and geography; and 9th graders had higher global attitude toward tolerance and appreciation than did 8th and 7th graders. This finding is consistent with Jian (1991) and Giffin et al. (2002). Eicher, et al. (1975) study found evidence of Piaget's stages of intellectual development, with older students possessing a more accurate and realistic view of the world than their younger counterparts.

Considering the differences in family socioeconomic status and overseas travel experience, there was a socioeconomic status difference in global knowledge and attitude. This finding is consistent with Jian (1991). Additionally, there was a difference in global knowledge and attitude between students with and without overseas travel experience. This finding partially concurs with Jian's (1991) finding, indicating that students with overseas travel experience had higher global knowledge. The results might vary by students' cultural stimulus, family environment and parental expectations. Generally speaking, high socioeconomic status families can offer more resources and provide better environment for their children. Coleman (1988) has argued that family background 'is analytically separable into at least three different components: financial capital, such as family income or wealth; human capital, such as the levels of parents' education; and social capital, such as the relations among parents and children (Coleman 1988:109).' Bourdieu (1997) suggests that the concept of cultural capital offers another perspective for understanding varying levels of parental involvement in children's schooling. Cultural experiences in the home facilitate children's adjustment to school and academic achievement. From this perspective, our findings might be reasonable.

The results of this study reveal quite different patterns among the set of variables examined, for example, there was no gender difference in global knowledge but difference in global attitude; 9th graders held significantly the highest knowledge and attitude; there was socioeconomic status difference in global knowledge and attitude; students with overseas travel experience have better global knowledge and attitude. This finding is particularly valuable for teachers and school administrators to implement the global curriculum, to provide a valuable learning environment, such as international week, global newsletter, cultural gallery, and to offer students global information in order to increase global knowledge and positive attitude. Additionally, we encourage international exchanges and partnerships in which students can participate individually in order to increase their own international knowledge. For example, schools may sign cooperative agreements with other countries for school-to-school partnerships.

6. Conclusions

The 21st Century is the age of globalization. Today students face a new world order and their daily contacts will include individuals from diverse ethnic, gender, linguistic, racial, and socioeconomic backgrounds. Moreover, students will experience some of history's most serious health problems, inequities among less-developed and more-developed nations, environmental deterioration, overpopulation transnational migrations, ethnic nationalism, and the decline of the nation-state. These changes are creating a need to acquire a global education. School curricula should respond to global education, which directly influences students' knowledge and attitude. In order to broaden students' global perspectives, we should emphasize a global curriculum not only on individual development but also on the impact of globalization. Our findings contribute to recent calls for more evidence of the effects of global education on teaching practices. Our data provide the disconnections between students' global knowledge and attitude and national curriculum and stimulate reflection on global education, not only in Taiwan but in any society. Our findings also suggest both practitioners and researchers to create suitable textbooks and school systems that would enhance students learning. We believe that when students attain adequate global knowledge and positive attitudes, they are prepared for global citizenship. On the other hand, if students lack of global knowledge and attitude, it is difficult for them to face global challenge and competitiveness. Moreover, students' global knowledge is insufficient and global knowledge and attitudes vary by students' demographic factors. Schools need to find practical ways to help students that are at a disadvantage by stimulating and empowering them.

References

Anderson, L. F. (1991). A rational for global education. In A. Kenneth & T. Alexandria, (Eds.), *Global education: From thought to action* (pp.13-34). The 1991 Yearbook of the Association for Supervision and Curriculum Development, VA: ASCD.

Angell, A.V., & Avery, P. G. (1992). Examine global issues in the elementary classroom. The Social Studies, 83(3),

113-117.

Asia Society. (2001). *Asia in the Schools: Preparing young Americans for today's interconnected world*. Retrieved on Oct. 20, 2005 from http://www.internationaled.org/publications.htm#ais.

Blankenship, G. (1990). Classroom climate, global knowledge, global attitudes, and civic attitudes. Unpublished doctoral dissertation. Emory University. (UMI AAT 9027896).

Bourdieu, P. (1997). The forms of capital. In A. H. Halsey, H. Lauder, P. Brown, & A. S. Wells (Eds.), *Education: Culture, economy, and society* (pp. 46-58). Oxford, England: Oxford University Press.

Chin, P. (2008). The Integration in the Teaching Design based on the Relationship between the Basic Competence and the Learning Objectives in Elementary Life Curriculum Textbook. [Online] Available: http://www.naer.edu.tw/mediafile/editor_file/225/1.pdf (Oct. 20, 2008)

Clarke, V. (2004). Students' global awareness and attitudes to internationalism in a world of cultural convergence. *Journal of Research in International Education*, *3*(1), 51-70.

Coleman, J. S. (1988). Social capital in the creation of human capital. American Journal of Sociology, 94, 95-120.

Davies, I., Evans, M., Reid, A. (2005). Globalising Citizenship Education? A critique of 'global education' and 'citizenship education'. *British Journal of Educational Studies*, 53(1), 66-89.

Diaz, C. F., Massialas, B. G., & Xanthopoulos, J. A. (1999). Global perspectives for educators. Allyn and Bacon.

Eicher, C. E., Piersma, M. L., & Wood, R. W. (1975). *An investigation of elementary children's perceptions of selected countries of the world: A technical report.* Vermillion, SD: Educational Research and Service Center. (ERIC Document Reproduction Service No. ED123149).

Griffin, P., Woods, K., Dulhunty, M., & Coates, H. (2002). Australian students' knowledge and understanding of Asia. *Australian Journal of Education* (November 2002). [Online] Available: http://www.curriculum.edu.au/nalsas/pdf/knowledge.pdf (Oct. 20, 2005)

Gualdoni, M. A. (1980). Global education: A generic identification based on a national delphi and practical application within the state of Michigan. Unpublished doctoral dissertation. Wayne State University. (UMI AAT 8107260)

Hanvey, R. G. (1982). An attainable global perspective. *Theory into practice*, 21(3), 162-167.

Hicks, D. (2003). Thirty years of global education: A reminder of key principles and precedents. *Educational Review*, 55(3), 265-275.

Holden, C., & Hicks, D. (2007). Making global connections: The knowledge, understanding and motivation of trainee teachers. *Teaching and Teacher education*, 23, 13-23.

Jian, M. (1991). An investigation of junior high school students' global knowledge and attitude in Taipei city. Unpublished M. Ed. Dissertation. National Taiwan Normal University, Taipei, Taiwan.

Junior High School Mandarin Chinese. Unpublished M. Ed. Dissertation. National Kaohsiung Normal University, Kaohsiung, Taiwan.

Kirkwood, T. F. (2001). Our global age require global education: Clarifying definitional ambiguities. *Social Studies*, 92(1), 10-15.

Kniep, W. M. (1989). Social studies within a global education. Social Education, 53(6), 399-385.

Lambert, W., & Klineberg, O. (1967). Children's views of foreign peoples. New York: Appleton-Century-Crofts.

Liu, J. (2008). An investigation of the problems of competence indicators in Chinese curriculum frameworks for elementary and secondary schools. Unpublished M. Ed. Dissertation. National Kaohsiung Normal University, Kaohsiung, Taiwan.

Mansilla, V. B., & Gardner, H. (2007). From teaching globalization on nurturing global consciousness. in Suárez-Orozco, M. M.ed. Learning in the global era: International perspectives on globalization and education (pp.47-66). Berkeley and Los Angeles, CA: University of California Press.

Merryfield, M. M. (2002). The difference a global educator can make. Educational Leadership, 60(2), 18-21.

Ministry of Education. (2006). *General guidelines of grade 1-9 curriculum of elementary and junior high school education*. [Online] Available: http://teach.eje.edu.tw/9CC/brief/brief6.php (September 15, 2008)

Osunde, E. (1996). Persisting and common stereotypes in U.S. Students' knowledge of Africa: A study of pre-service social studies teachers. *Social Studies*, 87(3), 119-124.

Petrie, J. (1988). Global Awareness Test. Fredericton, New Brunswick, Canada: Global Education Centre. (ERIC

Document Reproduction No. ED305277).

Piaget, J., & Weil, A. (1951). The development in children of the idea of the homeland and of relations with other countries. *International Social Science Bulletin. 3*, 561-578.

Pike, G., & Selby, D. (1999). In the global classroom. Toronto: Pippin.

Pike, L. W., & Barrows, T. S. et al. (1979). Other nations, other people (ONOP): A survey of student interest, knowledge, attitudes and perspective. (ERIC Document Reproduction Service No. ED 189190)

Pike, L. W., Barrows, T. S., Mahoney, M. H., & Jungeblunt, A. (1979). Other nations, other people: A survey of student interests, knowledge, attitudes, and perceptions. Princeton, NJ: Educational Testing Service.

Roberts, G. L. (1994). Global interest and knowledge of fourth-grade, eighth-grade, and twelfth-grade students in a school district in the southeastern United States. Unpublished doctoral dissertation. The University of Southern Mississippi. (UMI AAT 9509000)

RoperASW for National Geographic Education Foundation. (2002). *National geographic –Roper 2002 global geographic literacy survey*. [Online] Available: http://www.nationalgeographic.com/geosurvey/download/RoperSurvey.pdf (July 2, 2005)

Sampson, D. L., & Smith, H. P. (1957). A scale to measure worldminded attitudes. *Journal of Science Psychology*, 68, 243-247.

Saylor, J.G., & Alexander, W. M. (1974). Planning curriculum for schools. New York: Holy Rinehart and Winston, Inc.

Suárez-Orozco, M. M. & Sattin, C. (2007). Introduction in Suárez-Orozco, M. M.ed. Learning in the global era: International perspectives on globalization and education(pp.1-43). Berkeley and Los Angeles, CA: University of California Press.

Tanner, D., & Tanner, L. (2007). Curriculum development: Theory into practice (4th edition). Upper Saddle River, NJ: Merril/Prentice Hall.

Tye, B., & Tye, K. (1992). Global education: A study for school change. Albany, NY: State University of New York.

Tye, K. (1999). Global education: A worldwide movement. Orange, CA: Interdependent Press.

Tye, K. A., & Kniep, W. M. (1991). Global education around the world. Educational Leadership, 48(7), 47-49.

Wang, J. (2003). The Content Analysis of Global Perspective Education In Social Study In Elementary School. Unpublished M. Ed. Dissertation. Ping Tung University of Education (Ping Tung, Taiwan).

Wang. J. (2007). The Conversation Between Globalization and Localization-The Content Analysis of English Textbooks in Junior High School. Unpublished M. Ed. Dissertation. National Changhua University of Education University (Chanhua, Taiwan).

Wiles, J., & Bondi, J. (2002). Curriculum Development: A guide to practice (6th ed). NJ.: Prentice-Hall, Inc.

Wilson, A. (1993). The meaning of international experience for schools. Westport, CT: Praeger.

Yang, M. (2003). A study on the Perspective of Global Education in the Six-Grade Elementary Social Studies Textbooks. Unpublished M. Ed. Dissertation. Taipei Municipal University of Education (Taipei Taiwan).

Yen, P. (2003). Curriculum Pictures Reconstructed: A Research on School Curriculum Development for Global Education Unpublished Ph. D. Dissertation. National Taiwan Normal University (Taipei, Taiwan).

Yu, X. (2002). Research on Education for international understanding. Research on Foreign Education. Vol.8.

Zhang, J. (2007). *The Content Analysis of Global Perspective Education In Social Study In Junior High School.* Unpublished M. Ed. Dissertation. National Changhua University of Education University (Chanhua, Taiwan).

Zhao, Y., Zhou, X., & Huang, L. (2005). *American and Chinese youths' Images of America*. Paper presented at the 49th Annual Conference of International and Comparative Education Association, Stanford University (Palo Alto, California).

Zhao. Y., Hoge, J., Choi, J., & Lee, C. (2006). Comparison of social studies education in US, China, and South Korea. *The International Journal of Social Education*, 21(2), 91-122.

Table 1. Cronbach's alpha values for the instrument of Global Attitude Scale

Dimension	Cronbach's α
Tolerance and appreciation	0.66
Life and human rights	0.75
Global dependence	0.60
Communication and cooperation	0.69
War and peace	0.60
Global responsibility	0.70
Global thinking and local action	0.76
Composite (Seven dimensions)	0.92

Table 2. Subjects' correct ratio and item numbers of Global Knowledge Scale

Dimension	Sub-category	Correct ratio	Item number	χ^2 (p-value)
Global correl	ation systems	57.6%	8	6.52*(p=0.04)
	Politics	42.7%	3	
	Economy	61.1%	2	
	Universal system	70.1%	3	
Global issues	s	59.2%	22	$5.73 \ (p = 0.57)$
	Technology	71.3%	3	
	Population	61.3%	2	
	Race	49.3%	2	
	Energy	52.2%	3	
	Food	58.1%	3	
	Ecological environment	63.7%	2	
	Health and hygiene	64.3%	3	
	Globalization	53.7%	4	
Cross-cultura	ıl understanding	59.2%	7	0.21 (<i>p</i> =0 .65)
	Culture	61.9%	3	
	Religion	57.2%	4	
Global histor	y and geography	65.9%	8	0.27 (p = 0.60)
	Global history	62.8%	4	
	Global geography	69.1%	4	
Composite (I	Four dimensions)	60.1%	45	0.03 (p =0 .99)

^{*}*p*< 0.05.

Source	SS	df	MS	F value	Scheffé
Tolerance and appreciation					
Between groups	185.68	1	185.68	27.19***	2>1
Within groups	6931.25	1015	6.83		
sum	7116.92	1016			
Life and human rights					
Between groups	13.82	1	13.82	2.80	
Within groups	5001.61	1015	4.93		
sum	5015.43	1016			
Global dependence					
Between groups	7.20	1	7.20	1.47	
Within groups	4957.87	1015	4.89		
sum	4965.06	1016			
Communication and coopera	tion				
Between groups	52.81	1	52.81	9.56**	2>1
Within groups	5610.08	1015	5.53		
sum	5662.89	1016			
War and peace					
Between groups	123.50	1	123.50	27.72***	2>1
Within groups	4521.23	1015	4.45		
sum	4644.73	1016			
Global responsibility					
Between groups	89.41	1	89.41	11.63**	2>1
Within groups	7804.09	1015	7.69		
sum	7893.51	1016			
Global thinking and local act	ion				
Between groups	12.15	1	12.15	1.69	
Within groups	7297.00	1015	7.19		
sum	7309.15	1016			

Note: 1=Male 2=Female ** *p* <0 .01. *** *p* < 0.001.

Table 4. Grade difference in global knowledge and Post hoc comparisons

Source	SS	df	MS	F value	Scheffé
Global correlation system					
Between groups	234.95	2	117.48	43.86***	3>2>1
Within groups	2715.94	1014	2.68		
sum	2950.89	1016			
Global issues					
Between groups	1684.39	2	842.20	50.04***	3>2>1
Within groups	17065.36	1014	16.83		
sum	18749.75	1016			

Cross-cultural understanding					
Between groups	451.13	2	225.57	73.93***	3>2>1
Within groups	3093.91	1014	3.05		
sum	3545.04	1016			
Global history and geography					
Between groups	331.33	2	165.67	49.22***	3>2>1
Within groups	3412.68	1014	3.37		
sum	3744.01	1016			
Note: 1-7th graders 2-8th gra	ders 3-0 th	aradora			

Note: $1=7^{th}$ graders $2=8^{th}$ graders $3=9^{th}$ graders *** p < 0.001.

Table 5. Grade difference in global attitudes and Post hoc comparisons

Source	SS	df	MS	F value	Scheffé
Tolerance and appreciation					
Between groups	1.60	2	0.78	0.11	
Within groups	7115.32	1014	7.02		
sum	7116.92	1016			
Life and human rights					
Between groups	81.74	2	40.87	8.40***	3>2
Within groups	4933.69	1014	4.87		3>1
sum	5015.43	1016			
Global dependence					
Between groups	21.36	2	10.678	2.19	
Within groups	4943.71	1014	4.875		
sum	4965.06	1016			
Communication and cooperation					
Between groups	3.93	2	1.963	0.35	
Within groups	5658.97	1014	5.581		
sum	5662.89	1016			
War and peace					
Between groups	9.93	2	4.966	1.09	
Within groups	4634.80	1014	4.571		
sum	4644.73	1016			
Global responsibility					
Between groups	31.00	2	15.50	2.00	
Within groups	7862.51	1014	7.75		
sum	7893.51	1016			
Global thinking and local action					
Between groups	46.59	2	23.30	3.25*	
Within groups	7262.56	1014	7.16		
sum	7309.15	1016			

Note: 1=7th graders 2=8th graders 3=9th graders

^{*} *p* < 0.05. *** *p* < 0.001.

TC 11 (TC '1		•	1:00		1 1 1	1 1 1	1.75 . 1	•
Table 6 Family	I SOCIOECC	momic status	ditterence	111	alahal	knowledge	and Post I	noc comparisons
radic o. railing	SOCIOCO	monne status	uninciciic c	1111	giodai	KIIOWICUEC	and I ost i	ioc companisons

Source	SS	df	MS	F value	Scheffe
Global correlation system					
Between groups	81.61	2	40.80	14.42***	1>3
Within groups	2869.28	1014	2.83		2>3
sum	2950.89	1016			
Global issues					
Between groups	1026.48	2	513.24	29.36***	1>3
Within groups	17723.27	1014	17.48		2>3
sum	18749.75	1016			
Cross-cultural understanding					
Between groups	115.51	2	57.75	17.08***	1>3
Within groups	3429.53	1014	3.38		2>3
sum	3545.04	1016			
Global history and geography					
Between groups	127.23	2	63.61	17.83***	1>3
Within groups	3616.78	1014	3.57		2>3
sum	3744.01	1016			
Note: 1-high CEC status	2-middle CEC status	2_1.	STY CEC atotus		

Note : 1=high SES status *** p < 0 .001.

2=middle SES status

3=low SES status

Table 7. Family socioeconomic status difference in global attitudes and Post hoc comparisons

Source	SS	df	MS	F value	Scheffé
Tolerance and appreciation					
Between groups	73.72	2	36.86	5.31**	2>3
Within groups	7043.20	1014	6.95		
sum	7116.92	1016			
Life and human rights					
Between groups	15.63	2	7.81	1.59	
Within groups	4999.80	1014	4.93		
sum	5015.43	1016			
Global dependence					
Between groups	61.58	2	30.79	6.37**	1>3
Within groups	4903.48	1014	4.84		2>3
sum	4965.06	1016			
Communication and cooperation					
Between groups	67.89	2	33.95	6.15**	2>3
Within groups	5595.00	1014	5.52		
sum	5662.89	1016			
War and peace					
Between groups	59.549	2	29.78	6.59**	2>3
Within groups	4585.178	1014	4.52		
sum	4644.728	1016			
Global responsibility					
Between groups	91.895	2	45.95	5.97**	2>3
Within groups	7801.612	1014	7.69		-

sum	7893.506	1016			
Global thinking and local action					
Between groups	56.875	2	28.44	3.98*	2>3
Within groups	7252.271	1014	7.15		
sum	7309.147	1016			

Note: 1=high SES status * p < 0.05. ** p < 0.01. 2=middle SES status 3=low SES status

Table 8. Overseas travel experience difference in global knowledge and Post hoc comparisons

Source	SS	df	MS	F value	Scheffé
Global correlation system					
Between groups	5.79	1	5.79	2.00	
Within groups	2945.09	1,015	2.90		
sum	2950.89	1,016			
Global issues					
Between groups	137.88	1	137.88	7.52**	1>2
Within groups	18611.87	1,015	18.34		
sum	18749.75	1,016			
Cross-cultural understanding					
Between groups	34.11	1	34.11	9.86**	1>2
Within groups	3510.93	1,015	3.46		
sum	3545.04	1,016			
Global history and geography					
Between groups	29.31	1	29.31	8.01**	1>2
Within groups	3714.70	1,015	3.66		
sum	3744.01	1,016			

Note: 1=students with overseas travel experience

²⁼students without overseas travel experience ***p < 0.01.

Table 9. Overseas travel experience difference in global attitudes and Post hoc comparisons

Source	SS	df	MS	F value	Scheffé
Tolerance and appreciation					
Between groups	5.51	1	5.51	0.79	
Within groups	7111.41	1,015	7.01		
sum	7116.92	1,016			
Life and human rights					
Between groups	0.20	1	0.20	0.04	
Within groups	5015.23	1,015	4.94		
sum	5015.43	1,016			
Global dependence					
Between groups	0.01	1	0.01	0.01	
Within groups	4965.06	1,015	4.89		
sum	4965.06	1,016			
Communication and cooperation					
Between groups	5.74	1	5.74	1.03	
Within groups	5657.15	1,015	5.57		
sum	5662.89	1,016			
War and peace					
Between groups	20.69	1	20.69	4.54*	1>2
Within groups	4624.04	1,015	4.56		
sum	4644.73	1,016			
Global responsibility					
Between groups	1.20	1	1.20	0.16	
Within groups	7892.30	1,015	7.78		
sum	7893.51	1,016			
Global thinking and local action					
Between groups	21.03	1	21.04	2.93	
Within groups	7288.11	1,015	7.18		
sum	7309.15	1,016			

Note: 1=students with overseas travel experience

²⁼students without overseas travel experience

^{*} *p* < 0.05.